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Chlorine gas can be obtained from the electrolysis of sodium chloride solution.   

The equation for the reaction at the positive electrode is: 

 2Cl–(aq)   ⟶ Cl2(g) + 2e– 

0.015 moles of gas was collected in 2 minutes. 

Calculate the volume (in cm3) of chlorine gas generated in this time. 

[2 marks] 
……………………………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………… 

Volume of chlorine gas = …………………… cm3 

Ethene reacts with steam to make ethanol in the following reaction: 

 C2H4 (g) + H2O (g) ⟶ C2H5OH (l) 

What volume of ethene gas would be required to produce 138 grams of ethanol? 
[3 marks] 

……………………………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………… 

……………………………………………………………………………………………………………………………………………… 

Volume of ethene gas = …………………………………………
(Total 5 marks) 

End of Question 

See next page for Data Sheet  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